Multibody Drill T

1) Find the acceleration and the tension i%lne rope between the 2 masses, Assume y = 0.
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2) Repeat if p=0.2. S
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3) Find the acceleration and the tension in the rope between the 2
masses. Fﬂif s * F=30N
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5) Find the acceleration and the tension in the 2 ropes if the surface is frictionless.

Fp.f s Mo
35-45-34-4. = ¥50
0.z 0.5 k"

6) Repeat if the coefficient of kinetic friction is 0.10
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7) Find the minumum coefficient of kinetic
friction that prevents the system from moving.

3.9*13-3.&-1.?-& =0
Fo s 440

g H4aR  pe 0.2¢

20k

3.0kg

15kg




